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No books, calculators, or notes are allowed. Please make sure that your
cell phone is turned off. You will have 75 minutes to complete the exam.

Math 220
Exam 3
April 7, 2022
7:05-8:20 PM

Rec. Instr.

Rec. Time

Unless instructed otherwise, show your work on each problem.

Problem Points Points Problem Points Points
Possible Possible
1 15 6 10
2 12 7 20
3 8 8 10
4 5 9 10
5 10 Total Score 100




1. The function f(x) and its first and second derivatives are:

f(z) = (¢ - 3) f'(@) = (e —2) f'(x) = 6z — 1).

Find the information below about f(x), and use it to sketch the graph of f(x).
When appropriate, write NONE. No work needs to be shown on this problem.

A. (1 point) Domain of f(z): (- o0)0)

. (1 point) y-intercept: O

. (1 point) z-intercept(s): _ O wnd =

B
C
D. (1 point) Interval(s) f(z) is increasing: (230) wnd (22)
E.

(1 point) Interval(s) f(z) is decreasing: (0 2)
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(1 point) Local maximum(s) (x,y): (O} 0)

1 point) Local minimum(s) (x,y): (2,-4)

1 point) Interval(s) f(x) is concave up: (1,2)

)
)
)
)

1 point) Inflection point(s) (z,y): ())—(72~>

- (
- (
I. (1 point) Interval(s) f(x) is concave down: (29, 1)
- (
- (

5 points) Sketch y = f(z) on the graph below.
ne/cy —— Edec/C) = |ede/CU = |ehe foy ————=
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. (3 points each) y = v/(x) is plotted above. Find:

A. Interval(s) where v(z) is increasing;: (oY) and (2,20) decreasing: -4, 2)

B. z-coordinate(s) where v(x) has a local max: —4 local min: __ &

(“‘b)”)

C. Interval(s) where v(z) is concave up: C/[/Do ) concave down:

D. z-coordinate(s) where v(z) has an inflection point: ___ l

. (4 points each) In each of the following blanks, fill in “max” or “min”.

A. If W/(4) = 0 and R”(4) = 2, then h(z) has a local __min at © = 4.
B. If M'(—=3) = 0 and h"(—3) = —2.7, then h(z) has a local _NMaX at
r = —3.

. (5 points) Find the differential dy if y = cos(z? + 3).

dy _ s (&3) 2x
Jdx

dy=- Sin(x5r3 ) Axdx



5. (10 points) Find the absolute maximum and absolute minimum of
w(z) = 2% — 3% + 1 on [—1,1].

wl(x)‘-gxz—éx = 3Sx(x-32) s c«'wcy} c/e“{»eé,
W' )<=0 at x=0 and x=2,
The oa l/ o | A um b ot wld [ I

1$ ot x=0.

w(-)= (=3 = =3

wl0)= ¢=30%| =)

wl= =3[+ =]

On i“lﬂlj W) hes an absolete max ot (0,1)
and an absolide mia ot (=,-3).

6. A. (7 points) Find the linearization of g(x) = sin(z) at z = 0.
D[()()t cos (x).  The L\neor.\e_a#ﬁo,, o‘( @/Q) at X=0 s

L= 3(9) +5/(0)(x-0) = sin (0) +cos(0) X = X

B. (3 points) Use your answer from Part A to estimate sin(.01).

Sin(0])=g6ol) 3 LLor= .0l
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7. (5 points each) Find the following limits. (Use limit notation correctly.)
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8. (10 points) Suppose that when your bakery sells cakes for x dollars each, your
total profit is P(z) = —x% + 202 — 75 dollars. In order to maximize total profit,
how much should your bakery charge per cake? (Make sure to justify why your
answer corresponds to the absolute maximum.)
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9. (10 points) A homeowner with 20 feet of fencing wants to enclose a rectangular
area against the side of her house. What dimensions will maximize the fenced-in
area? (Note that three sides of the rectangle will be formed from fencing, and
the house will serve as the fourth side of the rectangle. Make sure to justify why
your answer corresponds to the absolute maximum.)

! Maxmize frea Pmc/

X X 2><+7:20 t+ so /= 20—«

b ouse. A= X (20-2x)= Q0x-2x°
A= 20-4x s always defined
Mo =0 & Hx=20 &> %=5

L+ Peeds, Justification 2nd Doy, Jstibiativn Closed Toteruml Method
RE) Ay [or] A0 or | negetine Site? 20
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in Lo, 0],

. 2 2
A(o)= 20'0"2'020 £4
A(5)=20:5-0.5 =5oF*
ACey=2010-2+10°=0 F+*

The C]*\”le%§l\on$ That maximze the avea s whes XS+ aud
y=20=3-5=] 04,



